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You may use a soft pencil for any diagrams or graphs.
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Section A co ntains {4 questions.
Answer all the questions in the spaces provided.
lf working is needed for any question it must be shown with the ansrrrer.
Omission of essential working will result in loss of marks.
The use of a n approved scieffic calculator is expected, where appropriate.
lf the degree of accuracy is not specified in the question, and if the ans rer is not exact, give
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Section A

Answer all questions

1 (a) Ctnvert 5.25 o/o lo a fraction in its simplest form.

Answer (a) tu

(b) Ar apartnent costs 40% more today than *{ren it was built. If the cost of the

alrrbaert was $410 550 *&en it was bu.ilt, fmd its cost today.

Answer (b) $ tzl

Lzl

2 lf a:b :5 :6,b :c=7 : L2,frr,da:b ;c.

SMSS 2017
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3 (r) Exprcss 3528 as a product of prime factors, lcaving your answcr in indrx

notation.

Answcr (a) t2t

(b) Iixplain v"hy 352E is not a pcrfcct cubc.

Answcr (b)

tl)

(c) Hencc, find thc rmdlert posltivc integcr a such that 352En is a pcrf*t cubc.

lrl

SMSS 20I7

Anr$,tr (e)
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4 (a) Write the following numbers, corect to three significant figures.

(0 299.678

Amwo(a)(i)

(7i) eo2.e97

Answer (a)(ii)

(b) Hence, estimate the value t *'='31:]* 
, correct to 2 significant figures.

299.678

trl

ill

t2)

sMss 2017
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3 (t) Expard (r - y)'.

Answer (s)

O) tlcnce, without using a calculator, cveluatc 5982,

tll

t:t

SMSS 201 7

Anr*cr (b)
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6 Expre*s the following as a single fraction in its simplest form.

(a) 3o+-2 5 -9a
5 7

(b) i +3x+2
,' -4x-tz

Answer (a) tzl

12)Ansuer (b)

SMSS 2OI7 [Tum over
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7 Solvc thc following pair of simultsntous oquations.

l^- v +-x =-l'2
7y -6x=ll

Aru*tr r -
,'i- trl

['Ium overSMSS 20I7
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8 It is giwm thar Iis dircctly proportional to.,[. The table below shows some values of I
and /.

T 3 t2

I 36 n

(a) F ind an equafion connecting 7 and i.

Answer (a) t2l

(b) Emce, using the table above and your answer to (a), find the value of r.

Answer (b) n : tu

(c) F fud the value of I given that / = 289.

trl

SMSS 20I7

Answer (c) I=
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9 Shirlcy bas 16 bananas,4E guvas and 72 oranges. Shc *ishcs to pack an cqual number

of esch typc of fruit into smaller packets.

(r) What was t.he maximum numbcr of packcts that shc could pack?

Answcr (a) t2l

(b) How many of cach typc of fruit *rs there in cach packcr?

Answer (h) _ bsn$!,

8!tvlt
arunscl tll

sMss 2017 ITum over
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l0 Expand and simplifu the following expressions

(a) t(sx+ey)+$-zy)

(b) (sa-t\a+s)+u-+

t
1

Answer (a)

Answer (b)

tzl

l2l

t?)

(c) +8
4n--
n

SMSS 2017
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tt (r) Solvc 6;12 +7x-20=0.

Answer (a) x =

O) Hencg find the values ofy givoa 6(y-2)' +?(y-2)-20-0.

Ansq,cr (b) t-_ tzl

ll Factorisc ,' - r' - ry' +y: completcly.

tzl

t2t

SMSS 20I7

AtHrrRr

['[urt ovcr



BP- 171

l3

13 In the dirgram, IBDE is a trapezium and CDEF is a parallelogram. Given that

BC = CI afi, ZCDE =7O8" , strting with reasons, find

AFE

B D

(a) ZCBF,

Answer (a)

(b) zlBFE,

Answer (b)

(c'S {BAF.

c

t2)

tl l

trl

1080

SMSS 20I7
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td 'l'hc figure shows a company logo which consiss of 4 identics] circles with centrer tr
X, Y sd Z ud a shaded cenral portion, The cantrc of each circlc is joircd b forfi tho

qvarc WXYZ.

If thc radius of cach circlc is 4 cm, find, lD terru of ,,

(r) the pcrimetcr of thc shadcd rcgion,

Answcr (a) cm t2l

(b) rh€ erea ofihc shrdcd rcgion

gm l?l

SMSS 20 I 7

Ans\+€r (b)
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MYE 2017 Math Section A Answer Key

Qn No. Answer Marks

.Allocated

Remarks

1 a)
2t

400

$s'74 770b)

I

2

2 35 t42:72 2

J t) 23 x 3t x7z

b) The power / index ofthe bases 3 and 7 are not

nulti ples of 3.

OR

The cube Dot of 3528 does not yield a whole
nurnber,

c) 2l

2

1

I

4 a)(i) 300

aXi0 903

b) 300

I

I

2

5 a) x2- Zry * yz

b) 487 20{

I

2

6 d eFon
35

b)
,+1
a-6

2

)

7 x= 4,y 5 3

8 4 "=:ir
b) 576

c) 8.5

2

1

1

9 a)8
b) 2 ban:alas, 6 guavas & 9 otanges

2

I

10 a)

D)

c)

75i -+loy + 72

3a2 -+l6a - 9

.15n'l -11'

2

2

2

11 a) x= L!
3

oR x=_2!
2

b),=3i oR y=-:
2

2

sMss 20r7 [Tum over
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Qn No. Aar*'e r Mr rkr

Allocatcd

Remrrkr

(x-1)(x-y'z) 7

1) a)

b)

c)

350

144"

540

2

I

l

l4 a) 8n cm

b) (64 - 16n) cmr oR 16(4 - z) cm2

.,

1

SMSS 20I7 lTrun ovcr
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CLASS REGISTER NUMBER

MATHEMATICS

Sec"tion B

Secondary 2 Express

Additional llrbterials: Writing Paper, Graph Paper
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2 hours 30 minutes

(For Sections A and B)

READ THESE INSTRUCTIONS FIRST
Write your name, registration number and class on all the work you hand in.

\A/rite in dark blue or black pen.
You may use a sofi pencil for any diagrams or graphs.
Do not use staples, paper clips, highlighters, glue or correction fluid.

Section B contains 10 questions.
lf working is needed for any question it must be shown with the answer.
Omission of essential workirq wi[ result in loss of rnarks-
The use of an approved scientific calcuiator is expected, where appropriate.
lf the degree of accurary is not specified in the question, and if the answer is not exacl, give
the answer t€ three significant figures. Give answers in degrees to one decimal place.
For r, use eiher your calculator value or 3.142, unless the question requir* the answer in
terms of r.
You are advised to spend no more than t hour 15 minutes on this section.

At the end of the exemination, fasten all your work securely together.

The nurnber of marks is given in brackets [ ] at the end of each quesdon or part question.
The total nurnber ol marks for this seclion is 50.

For Examine/s
Use

a'l
,,1,'.

sMss 2017
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2

Aruwm rll thc qucstions.

I Solve tlre incqualiry 3n - 7 2 -4.
Hence wrirc down thc smallost possible value of z givcn that it is a prime numba, t2l

2 (r) Simplify (za *)'1 -(a +t)z .

(b) Given *ur (.:r-y)'=25 and x2 +y2 =), find the value of:7.

t11

f .'t l
L.t

3 Two quantitics, r and 6iT, "" inverrcly pmponiooal, Whcn.r = l0,y-35.

(r) Find an equation connccting.r ard y.

(b) Hcnce find tic value ofy when r - 20.

t11

t2)

4 Townll and Town I arc 240 km apan. A car is travc ing !r 90 krnA whilc I motorryclc
is travclling at 1000 m/min. Givcn Url both vehicle lcave'l-own,{ at t r,m., which vehiclc
wili rcach Town I frn? At whrt tilrlc would it reach? t4l

5 The sum of intcrior anglas ol a rcgula n sidcd poly3on is 1260'.
Two of the interior angles are 38o ind I 5 I o, and thc remaining angles uc xc orch.
!'ind thc valuc ofr. l4l

6 Thrce ferry scrviccs .I, I snd C lcrve thc jct',y rt lntcrvdr of E minucs, I 2 minucr rnd
I 5 minutcs respcctivcly.
lf thc ferries firsl leavc iogcthcr rt 10.15 r.m., whcn witl rhey noxt leevc o3ctbor tgrin? i3J

7 (r) Joycelyn buys 4 iderticel tiru of print to peint hcr room .t r r,otd con of t9t),60.
How much would it cort hGr ifshc buyr 7 idcndcd tinr of p*int?

(b) Joycelrvn aod hcr rister uogld tate t hornr to p*inr r room if they uo* togsthcr,
Joycelyn deci&s to rsk firG6 ol'hcr fricndr o hclp.
Assuming all fivc of ttxm wort !t tha $rnc rttc. how mury houn uould ir ul*r for
'.hcm to finish paintiry trc moa?

t2l

t2l

sMSS 2017 {Tum over
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t2)

t4I

8 The diqram below shows a rectan gle ABCD. 6 = (Zx+s) cm, -BC= (x-Z) cm.

A B

D C

(r) Gven rhat the area of the restangle is 9 I cm2, fomr an equation in r and show that

it reduces 1o 2x2 -9x-126=0.

(b) Solve t}re equation in (a) and find the perimeter of rectangle IBCD.

9 Thc tatle below shows the admission rales to the C-onservatories at Gardens by The Bay.

tocal Resident Rates

Description
FloweDome + Cloud Forcst (Adult)
FlowerDome + Cloud Forest (Child)
Flowcr Dorne * Cloud Forest (Senior Citizen)

Flower Dome or Cloud Forest (Adult)
Flowrer Dome or Cloud Forest (Chitd)
Flo\r€, Dome or Cloud Forest Citizen

Price
$20.00
s12.00
$15.00

$12.00
$8.00
$8.00

All price arc inclusivc of GST.

Terms ard €onditims:
Chiid is &6ned as 3 to I 2 yea$ old. Free admission for drildren below 3 years old. Senior Citizen is defined
as 50 yc{s aad above. Adult is defrned as 13 years old and above.

(a) During the March School Holidays, Mr Lee decided to br.ing his wife, 61 year-old
rrrother and three children to tle Flower Dome and Cloud Forest. His children are
9 , I 2 ald I 4 years in age. How much did N{r [,ee have to pay in total?

(b) PAssion card holders enjoy a 15% offthe local resident conservatories tickets, with
a naximum of 4 tickets per carrd tansactioru

OCBC credit card members enjoy l07o offthe local resident consewatories tickets.

F*r in and his four friends, all being 21 years old, bought tickets to the two
conservatories. Kevin owns a PAssion card and an OCBC credit card. Which card
slror-:ld Kevin use to pay for the tickets?

(c) A local tow agenl is planning a tour to the two conservatories over the weekend.

( i) On Saturday, :r adults and y chi.ldren joined the tour. The total admission fees
is $272. Form an equation inx and y.

(ii) On Sunday, 1.5x adults and 0.5y children joined the tour to visit only one of the
conseryatories. The total o.tmission fees is $204. Fonn an equation in x and y.

(iii) Solve the two equations to fiad the number of adults and children who joined
the tour on Sunday.

12)

t3I

ill

tll
t41

SMSS 2 017 [Turn over
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Aurwcr tbe lholc of thb querdon on r aheet of gnpb pepcr.

l0 Thc vuiables.;r and y are conncctcd by the cquation y-xz +Zr-8.
Thc lrble gives somc corrcsponding valucs of;r and y.

(r) Find thc valtcs ofa and 6.

(b) Using a scdc of 2 cm to I unit on the .r-axis and

the gaPh of .y-x'+2x-8fot -3Sx33'

(c) Writc down the line of symmetry.

(d) Using your graph,

(l) find the valuc ofy whtn x ' 1.5,

(i0 solve thc equation .r2 + 2.r - t . 0.

cm to I unit on the yads, dmw

l?l

t3l

Ltl

trl

t|]

.r -5 -2 0

5 -8
B

I
I
b

a
0v

EEIIE

- End of prper -

SMSS 2017



Bp- r7g

Mid Year E:rmhrtiong
Sec 2 Expre*t
Section B

S/N Answer Remarks

I

2 a) 3az -2a-+0

b) rr'= -8

J 4 J+t 60
=- of ,=

x
60

Jv +t

b) r=8
4 The car will reach Town I first at 10.40 am.

5 r= 153

6 The ferries will next leave together at 12.15 pnt

7 a) S 15a.55

b) 3Jhor3h12minor3]h

8 b) 59cm

9 a) S9

b) Passion card

c) i)2O:+ l2y=272 or 5r+3y=68

iillAt + 4y = 2M or 9x + 2y = 102

iii) L5 adults and 3 children

n> 7

Smdlcst possible value of n = 2

studykaki.com


